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(tor Scheme 1 & Scheme 11 Candidate'V · 

Second Year Higher Secondary Examination 
Part- Ill 

ACCOUNTANCY WITH COMPUTERIZED ACCOUNTING 
Maximum: 60 Scores 

r Genera/Instructions to Candidates: 

Time: 2 Hours 
Cool off time: 15 Minutes 

• There is a 'cool off time' of 15 minutes in addition to the writing time of 2 hrs. 
• You are not allowed to write your answers nor to discuss anything with others 

during the 'cool off time'. 
• Use the 'cool off time' to get familiar with questions and to plan your answers. 
• Read questions carefully before answering. 
• All questions are compulsory and only internal choice is allowed. 
• When you select a question, all the sub-questions must be answered from the 

same question itself. 
• Calculations, figures and graphs should be shown in the answer sheet itself. 
~ Malaya! am 1ersion of the questions is also provided. 
• Give equations wherever necessary. 
• Electronic devices except non programmable calculators are not allowed in the 

Examination Hall. 
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PART -I 
Accounting 

Find the Odd one out : 

1. A) Super Profit 

B) Average Profit 

C) Capitalisation Method 

D) Weighted Capitalisation Method 

(Score: 1) 

2. A) Equity Share Capital 

B) Preference Share Capital 

C) Debentures 

D) Bank Loan (Score: 1) 

3. Sachin , Rahul and Lakshmanan are 

partners in the ratio of 2 : 1 : 1. 

Lakshmanan retires and Sachin and 

Rahul acquire his share equally. 

Calculate the new ratio and gaining 

ratio. (Scores: 2) 

5050 

1 . A) Super Profit 

B) Average Profit 

C) Capitalisation Method 

D) Weightea Capitalisation Method 

(Score: 1) 

2. A) Equity Share Capital 

B) Preference Share Capital 

C) Debentures 

D) Bank Loan (Score: 1) 

3. rru~cm, monn6aro, e.Jc:M:1momcm n(J)mSlruffi 

2 : 1 : 1 n(J)rrn mmm6o.JJ®COY051am e.JJcso 

o1l®lc006rrn o.Jffi:lJ~cfb~J6TT5'. e.Jc:M:1momcm 

o1 3 CQ) & 6) _!)j ~ <8 <J:P em, m© o.n nn1@ o 

ffi)_.g,J1ffi60 ffiJnD6e.!Jp ®6eJjillJCQJ1 oJl®lc006 

cfbCWJ61om~aro mmrum661S n....g®lcw ®()ffi6 

o.JJ®OJ6o eJOCSo ®()ffi6o.JJ®()_)J,o n(J)l® 

cwJ6TT5' ? (Scores : 2) 
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4. Baby Ltd. offered new shares of 

Rs. 1 00 at a Premium of Rs. 20 per 

share to the existing shareholders 

in the ratio of 1 share for every 

3 shares held. A shareholder held 

300 shares at a current market value 

of Rs. 160 per share. 

How many shares he will get if the 

right is exercised? 

How much is the total value of right ? 

(Scores: 2) 

5. Ani I Ltd. issued 5,000, 10% 

Debentures of Rs. 100 each at a 

5050 

discount of 5%. Pass necessary 

journal entries assuming that 50% 

of the face value was received with 

the application and the balance on 

allotment. (Scores: 2) 

4. ~6llJ6l'lfl Ltd.1 00 co~nJCl2>6~ 

nJ6 ®1 Cl2> 6) ~ Cl2>06cfb00 20 COJ nJ 

LnJi m1 em WI0>1 m6 m1 eJ OJ1 e.J6 ~ 

63onnco1 ~smcBJcJ0d}6) 3 61~cmo1m6 

161~cmro nti)\ffi ~m6nJO®CU®1e<i& 

~ OJ cBJ o ()() m o cm1 m ~ 6 cBJ em o 61 6TD 

ffi>1C<l'& 300 630n.OC01Cl2>6~ 63(1)000c£t6)u 

630n.Oc61 Cl2>6615 LnJmSl 61~cmro OJ1nJ6ffi1 

o.n e.1 1 6 o co~nJcmo616TD!:ful am ntD L (0) 

~OJ cBJ o ()() 63 o n.0 co1 cBJ 1§6 o ? 

~OJ cBJ o ()() 63 o nn co1 em 6 61 s 61 m o WIO> o 

5. ~m1ar& Ltd. 5,000, 10% cw16llJ6"'®J06 

cMJ6 1 oo COJnJcm6~® s% cu51crucfb'D 

6fl51e<i& g:Q.~~ 6)_!)_]~6· ffi'@>g.J)~cOO~ 

ffi0Cl2>6o ~~eJ0§'61ill~OCl2>6o 50% 61cll)ffil 

OJOe.J~ cru~cBJC01-s:J6 . ~®1m6 ~OJ6fl5 

~8166TDC<i& nfj) cfOLS1 %) 1:96 ®6 cfb. 

(Scores: 2) 



6. XY Ltd. purchased for cancellation 

its own 2,00,000, 12% debentures 

of Rs . 200 each at Rs. 175. Pass 

necessary journal entries. 

(Scores : 3) 

7. A business has earned average 

profits of Rs. 1 ,44;000 during the last 

few years and the normal rate of 

return in simi!ar type of business is 

12%. The net assets of the firm are 

Rs. 8,20,000. Arun and company are 

decided to acquire the business. Help 

him to calculate the goodwill of the 

5050 

business by capitalization method. 

(Scores: 4) 
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6. XY Ltd. cB:>j:::>emcme<fO @_iLlcm:::>m:::>mfl 

2 l 0 0 l 0 0 0 l 1 2 % cw161l.J 6mJ ro 

200 COJn.JW6~®u 175 COJn.J~ ®1ro1@cfu 

ru :::> 615T31 . (8 g'6 6ID cdO nB) em l s1 

(Scores: 3) 

7. 1 2% <8ffi:JCOOJC<i0 ClJC060J:Jffio cB:>1§6<m 

@@Sc;d)eJ6~ 63C06 6Y2J1m51m%f cru..o:::>n.Jm 

mm6 cfuy5l6Wm) c£7.>60~ rurooS16lffi§Om>1 

cful~cm wroowa)) eJO@o 1 ,44,000 COJn.J 

w:::>6TT)'. cru..oon.Jm(ml)1@~ @ffiRU ffi'®CW1 

8,20,000 COJn.JW:J6IDU. ®0C066ID16)~ 

cB:>crum1 gQ'D cru..o:::>n.Jmo O{B@RS6c006 

ru:::> em ®i ro6 OJ:::> ml~. cB:> j:::> CJd1 R 6) 6) e.~ WI 

<8CTOoS:lem roi ®1 m5J e<fO Cf)6 (li)u oJl e<fO cfu:J6TD6 

ru :::>em ®0(()6 6TT)16)m cmn.Oom5l c006cfu. 

(Scores : 4) 
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8. Salim and Karim are partners in a 

firm sharing Profits and Losses 
equally. Their Balance Sheet as on 
31st March 2013 was as follows : 

Liability 
Creditors 

Amount 

5050 

Bills Payable 
General Reserve 
Accident Compensation Fund 
Capitals: 

Salim 

28,000 

30,000 
20,000 

7,000 

Karim 
60,000 

40.000 1,00,000 

1,85,000 

On this day they admitted Rahim as 

a partner on the following terms : 

a) Rahim should bring Rs. 20,000 

as capital for 1/3 share and 

Rs. i 0,000 for goodwill. 

b) Land and Buildings is revalued 

at Rs. 1,00,000 and stock at 10% 

less than book value. 

c) Debtors are provided Rs. 2,500 

for Doubtful debts. 

Give journal entries and prepare 

Revaluation Account, Capital 

Account and Balance Sheet after the 

admission of Rahim. (Scores: 5) 
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8. rrueJl ffi6 o cB:>c61 ffi6 o ®6eJ jOJOCQ}l e.JO@o oJl ®o 
ru ~ (ffi nJ Efu:) g1 cfu ~p sm. cmoru (06 6) s 
ffiillOn.Jm((m)161~ 31-03-2013 61eJ 
61l.lo e.1 cmnS:l'l 8 ((5):)6)1,9 mm'ncB:>6 cm6. 

Assets Amount 
Cash in hand 5,000 

Debtors 30,000 

Stock in trade 45,000 
Furniture 30,000 

Land and Buildings 75,000 

1,85,000 

®0C8(ffi B1rurruo cmoruffi Ocill"lOJ161m 1/3 
o.Jl®o me..l'cfr>1 6)cfr,:)6f@u ffiill:)n.Jffi((m)l 

C8e.J c;6U) o.ffi56 ((5@6 · 

a) oCLO"lo 20,000 ffi~n.J m~e.Jwm 

mow6o, 1 o,ooo ffi~n.J m6curCLflm'n 
m-© CQJ 6 o 61cfr>86ll56 ru ffi6TDo. 

b) Land and Building Rs. 1 ,00,000 

wow1 n.J6mffim1f06TDw1~o cg~ocOO' 

1 0% cfr>60~ ru1e.Jw1ffi6((m)1. 

C) 2,500 ffiJCLl ffi)o(f()CQ.Jcfr>(OQ)JCQJ cfr>SQJJ 

cW1 §' OJ cfr>CQJ1 ffi6 ((5@1. 

Ocill"l m161m o.fD 56 ((m)C8(f()~ fl\S§§ C8~6TDC"O'n 

o.fi)®Ls1, o1ruoe.J6~cm cmoce~YD6llSU, 

eft, joo.J1 8 m'n cmoc00ro 61@, 6llJ o e.1 cmnS:l'l R 
o.fDcm1ru ®~oooc006cfr>. (Scores : 5) 



9. The Directors of Axis Ltd. issued 

10,000 equity shares of Rs. 10 at a 

premium of Rs . 2 for public 

subscription payable as Rs. 6 on 

application including premium. 

5050 

Rs. 3 on allotment and balance on 

1st and final call. 

The company received 25,000 

applications. Of the cash received 

Rs. 60,000 was returned and 

Rs. 30,000 was applied to the 

amount due on allotment. 

All the shares were paid in full except 

the final call on 500 shares. These 

shares were forfeited and reissued 

by Directors as fully paid at 

Rs. 8 per share. Give journal entries 

to record the capital transactions i~ the 

books of the company. (Scores: 6) 

-6-
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9. Axis Ltd. 6)~ ~smcfucfO 10,900 

g;Qcfu~R1 63::>oDco1cfucfO 10 co~n.J~~cm"' 

2 COJn.J LnJ'lm1CQ>mm1m6 m::>roc£}6)8lefloc£}6)1. 

6 co~ n.J <m]) gJl cg c:£}6) n9:1 cg m o 6) so c;tl o 

( Ln.J'l m1 CQ>o mms5m1CQ>cm"') 3 (OJn.J 

mm <8 eJ ::> ~f 6) m \@ <8 m ::> 6) s ::> c;tl o, 6llJ o c:£}6)1 

®6cfu 1 st 6)6)n..OfficW cfu::>g1}<8m:J6)50c;tjo 

cfu mJ m1 c:£}6)... 2 5 ' 0 0 0 ffi'@ gJl <8 c:£}6) n9:1 em 

cful§lCQ>®lcW, 60,000 co~n.J @lffi16)cfu mel'c£hl. 

30,000 (O~n.J ((ffi)(ge.J:J§6)Qlr@cW ()jcfu 

CQ)1co6mm1. nffi~::> 63::>nDco1cfu~o n.J~ro~ 

m::>mfl ru1~_gdcm1<W 500 6)n9:1CQ>016)~ 

6)6)n..QfficW cfu000Ql6T01 c£hl§lm51~. am>OJ 

cfumJml ®1<'016)-9,d56c£}6)6cfr>CQ)60, 8 (O~n.J~ 

(fully paid) oJ'l61@6o g;Qn9:1~ 6)..!l..f~cfr>CQ)6o 

6)..!2J~. <8~6TOcW nG)ffi>LS1 nffi':P6®6cfu. 

(Scores: 6) 
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10. A, Band C are in partnership sharing 

profits in their capital rat!o . The 

Balance Sheet on 15th March, 2013 

is given below. 

10. A, B, C ng)ffiJ1ru& m~e.Jwmeo®161cm 

ffi'f'i)ffi6n.JO®C0®100 e.J O@o o.Jl®1c:BU>6ffiJ 

n.J ffbJ~1 cfb~06rrr. 1 5-3 -2 0 1 3 6)eJ 

ffilf.l:)n.Jffi(O(l))161cm 6W J eJ rrnn911 8 ((5):)6)~ 
mm'OcB:>6ffiJ6. 

liability Amount Assets Amount 
11,000 
20,000 
21,000 

5050 

Reserve Fund 
Expenses 0/s 
Bank 0.0. with SBI 
Capitals: 

. A 
B 
c 

18,000 Cash at Bank 
3,000 Marketable scrips 

31 ,000 Stock in trade 
Furniture 

10,000 Investments {long-term) 
20,000 Land and Buildings 
30,000 

9,000 
30,000 
21,000 

1,12,000 1,12,000 

Further information on retirement of B 
on 15th June, 2013 

Profits fo r 3 months Rs. 9,000 

Drawings- A Rs. 1 ,000 

B Rs. 2,000 

C Rs. 3,000 

Interest on Capital @ 5% p.a. 

Salary to B Rs. 300 p.m. 

The firm had a fixed deposit worth 

Rs . 3,000 which has not accounted 

so far, has to be brought into the 

books. Marketable scrips were 

valued at Rs. 23,000.Jr' 

Prepare Profit and Loss appropriation· 

account, Capital account and 

Balance Sheet after 'B's retirement. 

(Scores: 6) 

-7'-

15-06-2013 afO B o1§CWCO 6)_o_!~8® 

®"lffi6mom1-9J?,. 

Ql~ffiJ6 ffi0()1)6)(0(l}) e.JOCSo - 9, 000 COJn.J 

n.J1cmrueJl~ ®6cfb -A- 1 ,ooo (()~n.J 

B - 2,000 COJn.J 

C - 3,000 COJn.J 

~e.JwmconS161cm n.Je.ll(/?)- 5% p.a. 

B CW661S ffiO<TDCf?)6'0.J~o - 300 ro~n.J 

3,000 ffi~n.JCW661S63C06 milllffi ffi1c&cfh9::1n.Jo 

tnillOn.J m com161cm 6WJ,d76)1 m'b c&ffi6lJ 61~56 

com1cw1§1~. cB.Jc&cruo~ cn>LcB.J1o.J'ffi.)1m6 -

23,000 (()~n.J oJle.JCQ)l(06C0®1. B CW661S 

Ol§CWCO 61m18Jm6c&Cf?)~~~ cfbcnJffi1CW661S 

mJoe.Jon ns11R6o Profit and Loss 

appropriation amJdMYD61156o ~e.Jwm 

~d76)·'D61f56o <Ol~oood76)6cfb . (Scores : 6) 
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11. A) Saji, Stephen and Sunil were 
partners sharing profits and 
losses in the ratio of 1 : 2 : 2. 
Their Balance Sheet as on 31st 
March 2012 was as follows : 

11 . A) cru~, ~in..Ocm , cru~mlm'O nBjffi)lOJro 
1 : 2 : 2 ntj)ffi) ((ffi)ffi~nJO®®mlm'O 
e.JO@o nJ'lcmo OJ~ffi) nJffu0§1cfb 
§86TTt 31-03- 2012 ffilOOnJffi 
®m16) ~ 6llJ o e.1 em cruv n91i Av em o 6) tjl 

5050 

6)cfb8S~c00~ffi)~. 

Liability Amount Assets Amount 
16,000 
15,000 
18,000 
56,000 

Accounts Payable 15,000 Cash at Bank 
Bank O.D. 12,000 Joint Life Insurance Policy 
Stephen's Loan 18,000 Accounts receivable 
Joint Life Insurance Policy Reserve 15,000 Stock in trade 
Capital : Office Equipment 8,000 

47,000 Saji 20,000 Land and Buildings 
Stephen 40,000 
Sunil 40,000 

The partners agreed to dissolve the 
firm on the following terms : 

a) Assets realised as - Land and 
Buildings- Rs. 1 ,20,000, 
Stock- Rs. 40,000, Accounts 
receivable- Rs. 15,000 

b) Expenses on dissolution -
Rs. 3,000 

c) A creditor accepts office 
equipment for Rs. 7,000 and the 
remaining creditors were paid in 
full by cheque. 

d) The Joint Life Insurance Policy 
was surrendered for Rs. 9,000. 
Prepare realization ale, capital 
accounts and bank account. 

(Scores: 8) 

OR 

1,60,000 1,60,000 

((ffi) OJ CO ((ffi) <8 ffi) B1 OJ cru o CTUD 0 nJ m o 
nJlco1~ oJlsocm cmico~mom1~. ®:::>@tjl 
nJOCQJ~ffi) LnJcfb:::>COo : 

a) mrQ) cwl cfu ciO ol CQ) 6) 6) e.J ffi)v 6) .!Ll ~ 

<8~:::>00 cfb1§1CQJciD 

@cfb§lso_go rs~a51CQJ6o -1 ,20,000co~nJ 
<8~8c00'- 40,000 COJnJ 
((ffi)cOO'D6'1"@ cfb1§:::>m~® -15,000 COJnJ 

b) nJc6t~o.Jlsom~.DJle.Jo1- 3,000coJo.J 

c) 63ffi6 creditor 63on..Oicruv ~nJcfbffi6TD 
6ro00 7 ,000 COJnJ~tf nB)S6®m6. 
6UJ:::>c001 creditors cru1mv nJ6IDo 
mm'Ocfb1. 

d) <8 ~:) mfl ~v 6) 6) eJ Cl.Ov <8 nJ :::> §.1 crul mfl m'O 
rr)lffi)60 9,000 ffiJnJ ce;]§l . c))CQJ6)6)e.J 
<Ecrucrl:lciO ale, Q)JeJWm ale, 61ll:::>ffh' ale, 
nB)CffilOJ ®~OO:::>c006cfb. 

(Scores: 8) 
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B) Jack and Jill are partners sharing 

profits in the ratio of 3 : 2. They 

decided to close the firm and their 

Balance Sheet is given below : 

5050 

Liability 
Claims payable 

Creditors 

Mr. Jack's loan 

Bank loan 

Profit and Loss Nc 
Capital: 

Amount 
32,000 

32,000 

18,000 

80,000 

18,000 

Jack 

Jill 

40,000 

30,000 

2,50,000 

Assets realised as follows : 

Buildings Rs. 32,000 

Debtors Rs. 28,000 

Furniture Rs. 36,000 

Liabilities settled as follows : 

Plant has been taken over by Bank 

at Rs. 66,000 in respect of the loan 

granted by the Bank and the rest has 

been paid in cash. 

Creditors are settled at Rs. 30,000. 

Realisation expenses came to 

Rs. 1,000 which have been met by Jill. 

Prepare necessary accounts to 

dissolve the firm and ascertain 'the 

amount due to or due from the 

partners. (Scores : 8) 
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B) ~8cOOJo W~?P 3 : 2 o.mcm mmmJn.J8® 

(010)1(!)'0 eJ8<5o oll®o OJ~(ffi n.Jffb8~ 
cfu§_8sm. ffi'l'DOJro ffi'l'DOJffiJ6)S CTU..08n.Jffio 

~OJ8cTO ®l<OJffi8ffil~. 6YlJ8eJcTOrrU n91'18 
®86)1..9 6)cfu8SJ(0)'0)1<01cOOJCffiJ. 

Assets Amount 
Cash at Bank 10,000 

Debtors 30,000 

Stock in trade 70,000 

Office Furniture 40,000 

Plant 60,000 

Buildings 40,000 

Cffi])ClJ?1cfucJO ruru cful31w©. 

6)cfu§1So 32,000 ffiJn.J 

6)(U)6TIJ~RI.,9um) 28,000 ffiJn.J 

n.Llro6ffil~ro 36,ooo ffiJn.J 

6Yll8w J ®cfucJO ®i ro(6'(l))©' : 

2,50,000 

g.d8~ 66,000 ffiJn.Jm5l§u 6ll.J8ffu (ffi'()OJ 
ffiJ6'>S <EeJOGm1ain ffilCffiJ cful§8ffiJ~®1ain 
OJcfu(Q)1ffiJ(0)'0)1. 6YlJ8c001 ®Jcfu(Q)8m5l§u 

mroncB:J1. 

@lcB:>cu5l~Rijlm5lm6 30,000 <OJn.J @cfb8SJ/~m6 
@CTUR1ron 6)..2J~. 
01(Q)6)6)eJ~ffi)crl1ffi6 .!lileJOJ8(Q) ®Jcfb 

1 ,ooo ffiJn.J wron runn1~. 

CTU..08n.Jm(OJ'0)1@~ n.J1ro1~ oJ1s6cm®1m6 

~OJ6T'T51WJ~ ffimc00"06f@JcfucJ0 ®~808 
cOOJce., . n.Jffb8§_1cfucJ0c£76)u 6)ce.,85Jc008ffi6 

~®6o, mmrum1am m1cm6 ~'DS8cOO:::>mJ 
~®6 o 04)l®CQ>86)6TTXffi cfb6)6f@CI5lmJcfu. 

(Scores: 8) 
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PART -II 

Computerised Accounting 

1. By default, Tally Provides a list of 

____ Pre-defined groups. 

A) 28 B) 15 C) 13 D) 18 

(Score: 1) 

2. Write the command to calculate the 

State Life Insurance (SLI) Premium 

. of an Employee using the 'IF' 

functions. The condition is SLI 

Premium Rs. 250 for basic pay 

below Rs. 10,000/- and for others 

Rs . 500/-. (Hint : Basic Pay (BP) is 

given the cell B3). (Score: 1) 

3. Following are popular accounting 

softwares: 

5050 

(i) Tally 8.1 

(ii) Dac Easy 

(iii) Tata Ex. 

(iv) Peach Tree 

a) Make Pairs on the basis of a 

common criterion. 

b) Give justification for making the 

pairs. (Scores: 2) 
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1. cu51n..OocfO~pcW1 soeJlcWlm'O nti)l® Ln.J1-cu51n..O 

cw1cf0s lWJ'J:Bcfu~p6TT) ~§§®'. 

A) 28 B) 15 C) 13 D) 18 

(Score: 1) 

2. arms1cru.nomCRJmJ§_o 10,000/- ffiJnJWlm'O 

cfu60QJ06)6mffi:>1m'O 250 ffiJn..l, Q)86§§ 

ru&cOO' 500/-ffiJn..l nmnn m1ro~1m'O 

~rum~Offi66)S 'SLI' LnJlffilwo cfu6m~O 

~om 'IF' ~nJ <2cwo wl:9i c:BJcrm o6mr 

04) lj> 6 em 6 cBJ . ( cro J .!l..l m : arm s1 cru.n om 

CRJ6W~o (BP) 6)<rum'O B3 6)c:BJOS6(]10)1 

(Score: 1) 

3. ®06)~ n.J0CW6ffi)QJ ffi"m~'D6TYS1oCfJu 

(]<TOO nil R 6)QJCW06 cBJcfO al'@ orr). 

(i) Tally 8.1 

(ii) Dac Easy 

(iii) Tata Ex. 

(iv) Peach Tree 

a) 63ffi6 6)nJ0®6 m-ms1cru.nom(]I0)1m'O 

l WJ 'J:B 6)..!lJ ~ cfu. 

b) m-mSlcru.nomo offi6)®rrD 

<ruOWJcfuffi1c006cfu ? (Scores : 2) 
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4. Mr. Aneesh, who undergoes a short 

term course in Tally, created 

necessary ledger accounts 

including purchase return, under the 

group 'purchases'. While making 

the voucher entry of purchases 

returns, he pressed the 'F7' key, 

but Debit Note voucher option 

doesn't appears in the screen. 

a) Why it happened ? 

b) How it is possible to make this 

voucher entry ? (Scores: 2) (Scores: 2) 

5. Give the procedure to insert a 

new worksheet and to delete a 

worksheet. (Scores: 2) 
(Scores: 2) 
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6. BharatTextile Ltd. has 3 warehouses 

at Kannur, Thrissur and Kallam. Now 

they proposes to compute rise their 

accounting work using Tally 

software. 

a) How can they activate accounting 

for transfer of goods from one 

warehouse to another after 

installation of the software ? 

b) Identify the voucher type used to 

record the movement of goods 

from one location to another. 

c) Give the path to create the 

warehouse of different locations, 

in Tally? (Scores: 3) 

5050 -12-
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6 cs 8 CO ®v @Scfuv 6) 6) ~ co5l am emu ltd . mv 

cfu6Jhwn, ®~~~&, 6)cfu:)~o nmnni 

cruD eJ em) m~ m1 @OJ ronnrn WcSJ~ 6'1"@. 

gQ <Ec~:P§ OJ ro so e11 ~n.J <E CQ):) w1 ~v 

(G'0 c:£76) '":) 6f)'5v emu c£h mJ ~ § 0 m.Jl ~ 

6).1lJ~MOJocm ~<EC3(1()1c006nn6 . 63ro6 

S> OJ m.> ro nnrn em1 am m1 nn6 o ill 6) R o nn1 

<E eJ cOOV em 0 w m 615T3 cJ6 ill:) 86 nn ®1 mV 

s:) eJ1 mf1 am %) 615T3 6) m @'@cas 1 <E OJ ~v 

S>.1l..lgmo ? 

a) 63C06 S>OJm.>ronnrnem1am m1nn6o 

m 6) R o nn1 <E eJ c00v em ow m oo cJ6 

mornnncm1mu soe.flco5lam %)661'36)ffi 

CIDID~<EOJai @.!lJ gmo ? 

b) 63ro6 S>OJm.>ronnrnem1am m1nn6o 

mS> R o nn1 <E eJ cOOV em ow m 615T3 cJ6 

Ql0R6fffi®l m soe.flco51 am o.ffi® ®roo 

OJ'"D-9::1 oo61D ~n.J <Em>ow1 <Ec006n5® ? 

c) so e11 mn am oJl oJl w cruD eJ com6~ 

6) OJ (Q) ro nn rn em 6 cfu cJO l cfu 1 (g (Q) R v 

S>.1l..l~Om6~ n.Jocm) O{B®o6TT)? 

(Scores: 3) 
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7. Mr. Anil Kumar, a plus two 

commerce student, entered the 

following details in a worksheet of 

M.S. Excel. 

A I B c I 
1 

DA 

D 

HRA 

7. mmm1arn c£h6m~ro omrrn ~emu 56 

I 

6) c£h ~ (8 (1l ~u emu oJl B J:) ro m.o16) (Q) M . s. 

Excel co?> ©86)~ oJocm6cm c&smfluo 

oJJ ffi®mi tfuffi1 cOO OcTO emnD8CD5lcOOJ,tfu. 

E I F G H 

HTA 
Gross 

PF 
Net 

2 Name BP (15% of 
(5% of BP) 

(2% of (10% of 

BP) BP) 
Pay 

BP) 
Pay 

3 Bharath 15000 

4 Padma 24000 

5 Rahim 22000 

6 Susan 14500 

7 Salim 18000 

But, he faces some difficulty in 
' 

completing the task. Can you help 

him by giving necessary commands 

or formula for filling the blank 

columns in the given spread sheet. 
(Scores: 4) 

(Scores: 4) 
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8. a) From the following describe with 

the help of a table with columns 

(a) Sl. No. (b) Account involved 

(c) Account Group (d) Voucher 

type 

5050 

i) 2013 April 1 Shaji started 

business with cash 

Rs. 50,000 

·ii) 2013April1 Openedacurrent 

account with SBI Rs. 30,000 

iii) 2013 April2 Purchased goods 

from Anil Rs. 12,000 

iv) 2013 April 2 Paid Carriages 

Rs. 300 

v) 2013 April3 Cash purchases 

Rs. 3,000 

vi) 2013 April 3 Paid for 

advertisement by Cheque 

Rs. 2,500 

vii) 2013 April4 Returned goods 

to Anil Rs. 1 ,800 

viii) 2013 April 25 Paid to Anil 

Rs. 9,850 in full settlement of 

his account. (Scores: 5) 

OR 

-14-
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8. a) ®J@Ij> cmrm1ffi1dX06rm cw1@scw1m'O 
cpJlm1> m1rm6o offi6l®@dX0 cmiffi1CQ>am 
m <1lJ 0 8 6ffiu' o.ffi 6) ® 8 6) dXi) (ffi() dXi) 'D 

~cp(~cfu~8611) ~~®, o.ffi6lCID86ldX0 
(ffi() dXi) 'D 6f@ u l (f) ~ ~ 6 cfu ~ 8 6ffi u 
(g OJ 6f@ @u l o.ffi 6) (ID 8 6) c9{i) (lJ 'D ~ (0 

6) 6) s ~ 8 6ffiu cg (lJ 6f@ ®u ntD rmu 

cg smn gp am (g(()6l.J 6)~ s6 (m))J cfu. 

i) 2013 April 1 Shaji started 

business with cash 

Rs. 50,000 

ii) 2013 April1 Opened a current 

account with SBI Rs. 30,000 

iii) 2013 April2 Purchased goods 

from Anil Rs . 12,000 

iv) 2013 April 2 Paid Carriages 

Rs. 300 

v) 2013 April3 Cash purchases 

Rs. 3,000 

vi) 2013 April 3 Paid for 

advertisement by Cheque 

Rs. 2,500 

vii) 2013 April 4 Returned goods 

to Ani I Rs. 1 ,800 

viii) 2013 April 25 Paid to Anil 

Rs. 9,850 in full settlement of 

his account. (Scores : 5) ·· 
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5050 

b) Mr. Manoj, a plus two student, has 

created two stock items - viz 

chairs and tables for Rajkamal 

furniture shop. Then he entered 

transactions relating to purchase 

and sale of chairs through 

appropriate vouchers. 

a) Is it possible to delete both 

the stock item created by 

Manoj ? Justify your answer. 

b) Write the procedures to delete 

the stock item. (Scores : 5) 

-15-

b) ill<Bm8gtl omrrn gtiemu 56 ~6)Scffr, 

ro0 gtl cfu ill am ell) ro 6TD"l -8d co (8 n918 <Jdl m6 

<80J611'51 ffi611'56 <8~8d.16)u 6)omRomf 

~ 611'5 8 d.16)1 - 6) .!2J C!V 0 6 0 (8 s 6llil §6 0 0 

om rrn1 ~f 6) .!2J C!V 016) ~ n.J (0 (8 .!2J emu' 

6) ffi) mfl am emu om rrn1 OJ C!V l.O 0 oJl w1 

<8ffi6lJ6)<;tjS6COTm1. 

a) ill (8 m 8 @'l ~ 611'5 8 d.16)1 C!V (8 ~ 8 d.16)u 

6) om Rom.> cw1 e.l'l Ru 6) .D.J (~P em 

n.Jf15<8ill8 ? 

b) <8~8ce€) 6)omRom5' ru5lel'l8 

6).D.J~8m6~ 6)~n.Juemu 

(Scores: 5) 
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